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(©)) (inparalld) (in series)
@ (capacitorsin parallel)
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Two capacitors C, and C, (where C, > C,) are charged to the same initial potential

after the switches are closed and the ratio of the final energy to the initial energy.

(a) Qy; G Ql_,i_'_ G

Q=CDhvV,  Q;=-CDV

=Qy; +Qy;
"

Qlf :C1va sz :CZDVf Qi Cy Qof 0

Qi :Q =C:C, () (b)

o

difference DV;, but with opposite polarity. The charged capacitors are removed from the
battery, and their plates are connected as shown in Figurea. The switches S, and S, are then
closed, as shown in Figure b. (a) Find the final potential difference DV; betweenaand b
after the switches are closed. (b) Find the total energy stored in the capacitors before and
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